




Answer: b, P.E.A.S.T



x = 47° + 82° (E.A.T.)
   = 129°

a + 93° + 80° + 130° = 360°
( sum of the exterior angles of a polygon is 360°)

a = 360° - 93° - 80° - 130° 
a = 57°

360 / 30 = 12  the polygon has 12 sides.



   180(n-2) = 140n
  180n-360=140n
 180n-140n=360
           40n=360
               n=9 the polygon has 9 sides.

Volume of a cone = 1/3 volume of a cylinder (with the same dimensions)

V = 1/3 (300)
= 100   the volume is 100 cm3.



s 22
+= h r2 2

s2 =18 7+2 2

s = 3732

s = 373
s = 19.3

The Slant height is 
19.3cm
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